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Quiz 9—Friday, April 24 
�
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Solutionkey

him 3ws3xcos5x5s_i3xin5x 3 0
x o 1

3 using lHEpital'sRule

OR align Sint Hyoas5x z
i 3 the oldway

him 3 lux
x Tx by l Hopilal'sRule

lying M 5 Zz o o

Here I havemade use of theprevious limit we
have demonstrated
lying
b Ying 0

A muchfaster solution usesthesubstitution y lux
fim.ch hjm.E yhjm 3Ie5lig.Yes

lying Ferg 0



Here'showitmightwork ifyoublindly proceedwiththree
applicationsofe'Hopital'sRuletotheoriginal limit

hjm.hn him
ln

byeHipital'sRule

him
3 aftersimplifying

him 6h x
x o t by dHospital's Rule

lying 34 aftersimplifying

him 34 by dHonpital's Rule

lying 2 after simplifying
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